
Sections 2.6 & 2. 7 - I.C.E 

Part A: For #1 - 4, be sure to use a sign chart to find the appropriate intervals for your solution set: 

• 1) 

2) 

, 

Solve x2 + x < 6 and answer using interval notation 

' 
1 :r-x -- ti ( o 

( +-? ] ( ").. -- ~ ) < a 

-z(x-3) 
Solve 2:'. 0 and answer using interval notation 

x+2 
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Sections 2.6 & 2.7-1.C.E 

x2 +10x+24 3) Solve 
2 

:S: 0 and answer using interval notation 
X -3x-4 

_ (x+Y j ~+l-) 0 
(-J-'-i ")(1'r\) -

.I): },1),< i' 11) -,) 

er.fl teJ "~ \w? ', 
.-I, - ll - I ., '1 / ) ,, 

+ - 'l - ;-
~(P y 

-?:; - '{ - ) "f 

Wt w~ ~v 

- --
~--f.b ,-~J (-1 >'I) ~· 
\______ -- ---- -- ----- -- -

4 1 4) Solve --->0 and answer using interval notation 
x+S 2x+3 

-q,X t-) 2-- - )\ -~ 

l .,__ ..... )._ -z.~r-~) 
_:L -A+-1 

('A-yr:;1_ 1-1'13) 7 D 

1{"At \1) - ? 0 

( i-rt;)('J.1- J(?) 
T?: 1'/,11. -~) - ~) 
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re 
Sections 2.6 & 2.7-1.C.E 

Part B: Find all horizontal, slant, and vertical asymptotes for each function. Be sure to state your 
answers as equations of lines. Also find all x and y-intercepts and draw a sketch of the graph. Label 
where the asymptotes and the intercepts are located on your graph. 

1) f(x)=-x-
x-3 

Hole? 

VA: 

HA or SA: 

x-int: 

y-int: 

NO ' I 

X-= 
'j_ =- ) 

I 

( 0 ,o) 
(o, a) 

f.-

( 
-xz - X 

2) f x)= xz-1,6 -::: (i--+-~~-X--'t ) 

Hole? No I ' 
VA: ){ ; '\ 

HA or SA: \/ -' 
x-int: ( 0 l O j 
y-int: ( 0 o) 
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- 8 

- 10 

l- - -
0 

y 
10 

-2 

- 4 

- 6 

- 8 -

- 10 

I 

'1' ( 

1 

7 

10 X 

-t 
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Sections 2.6 & 2.7-1.C.E 

3) f{ x) =x2

2

+4x+3 -=- (xt-~J-:(.t l) ~ (t+~)£:_0_ 
2x -Zx-4 'J.(j.. :.j - 2) 1-,(-,_-'2.:(""+- )) 10 

y -, 
Hole? ju~@. 'f. -:: - } 

VA: "' -:. ').. 4 -, 

HA or SA: -:). - J_ - 2: 

x-int: 
-

E ; 
-10 -5 10 ·x 

y-int: lot -\) 
- 4 .... 

-6 

-8 

- 10 

t 
- - . - ....-- =; 

-~ -l d- ,,.~ 

4) f{x)= 3x+l 
x- 2 1o'f'Y I 

Hole? No 1 

VA: 'I- ~ 2 
HA or SA: J ,;.? 

- - ,r- r- - -
x-int: ( -1 ? 0) - 10 - 5 ' I 5 10 -x 

y-int: ( o) ---¾. ) 

- 6 

-8 

+-
- 10 

f I -t - -- ) -- I - -- t------~ ' 
-.!. 
} ).. 
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Sections 2.6 & 2. 7 - I.C.E 

(9 5) g(x)=+- = _£__ 
(x -<1:,X-l-r?) Ii\ I 'f'Y 

X -9 10 

Hole? No ! 
VA: )(::.-?) Y-:;:-3 

I 

HA or SA: I -:::- a ~,..-,· 
no Vil~ ~- ( , : I 1 1 ! L I I ! ! I I I I -7 

-5 s 10 X x-int: - 10 

y-int: no '{)l-
I 

- 4 

-6 

- 8 

- 10 

t- "' -f' 
-) 

-? (-
2x _J:L__ 

6) h(x)= x2_ 1 (x-1)(-lltl) 'f'Y 
1 10 

Hole? ND ' 
VA: i ;,/ 11' -:..1 , ,. •· 

, 

HA or SA: -;. 0 

-- ~ 

'I;' I I I : 
1 ' : 

I i : 
16 -') x-int: &;-.:. 19 

I I I 
----- -5 s 

y-int: lo I o) \ i_. 

I i-6l 11 
I -s 

I 
- 10 

' - "' -t Fi ----) -, 0 ) 
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Sections 2,6 & 2.7-1.C.E 
1,\r1)fn . -

7) r(x)~x+B Jm )/;W ) 
X 3 (1-t-~) 

Hole? 

VA: 

HA o@ j "f. +-? 
x-int: ( '1 2o)A -l,o) 
y-int: ( 0) ~) 

'/.. t-7 
t+ -t-ht- +'B 

- ('!,.,. 1r "}-1) 

J1--rfl 
7" t" '7 _, 

8) k(x)- 2 
- ,;;.. ) 

- x2 +3x - 't(~t1 

Hole? 

VA: 

HA or SA: --~+---::;._0-=-------

x-int: ()-0 ne.. I 

y-int: ror')e, I_ 
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Sections 2.6 & 2.7-1.C.E 

Hole? 

VA: 

___ _ 

x-int: (-1+1'"7,&)) {--J-{,'j } ri) 
y-int: (o ') 1¼) 

-20 - 10 /' 

-1., t---, 
j _i;- IX "2..r- ?-~ - ) t. 

- ( X '{. -«;"'I) 

35 

30 

25 

20 

7 x - n 
- '\,~ -½ ) 

-z. "? 

1 

I/ 
10 / I 

I 
10 

-5 

-10 

- 15 

-20 

20 

~--------l-- _.'!:.- -- ,-:- -) - - ·- t- -- -- - -- ·? 
+r~ ~,~fo 5 
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Sections 2.6 & 2.7-1.C.E 

10) f(x) 4x3 -28x-24 
x2 - 3x-10 (hint: try x + 1 as a factor for the numerator) 

Hole? 

VA: 

1!':} @ .X -: - -;J--
'J -=-5" 

HAo@ j L) 'is -rl '2-

x-int: (-l )o)) (7,, t,) 
y-int: ( V ) 1¼ i 

-20 

90 

80 

70 

60 

50 

40 

30 I/ 
20 / / I 
1 

-10 / 0 // -10 
l/. / / :: 7 -40 

I 
-50 vi 
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